EMV=10K

QUESTION 7.32

EMV=10K

Drill at Site 1

EMV=0K

Drill at Site 2

Max Profit
Dry (0.60) -100K
EMV=52.50K
Dome (0.6) Low (0.25)
150K
\/\ High (0.15) 500K
Profit Prob*Profit
52.50 31.50
5375 -21.50
10.00 Dry (0.850) -100K
EMV=- 53.75K
No Dome (0.4) Low (0.125)
High (0.025) 500K
Dry (0.2)
-200K

Prob*Profit

-60.00
37.50
75.00
52.50

Prob*Profit

-85.00
18.75
12.50

-53.75

Prob*Profit

-40.00

40.00

0.00



QU ESTION 7.32. A Pr(X|Dome, Test Result)=Pr(X|Dome)

Max Profit
ITIVE TEST RESULT
POS S SU CONDITONAL INDEPENDENCE!!
Dry (0.60) -100K
EMV=52.50K
Pr(Dome|Test Result) «=——— //
Dome (0.908) Low (0.25)
P("‘ | Dome) =0.99 \\ 150K
EMV=42.73K High (0.15
P(- | NoDome) =0.85 o _ _ T sok
Drill at Site 1 Prob Profit Prob*Profit
0908] 5250 47.67
0092] 5375 -4.95
42.73 Dry (0.850) 100K
EMV=- 53.75
No Dome (0.092 Low (0.125)
150K
EMV=42.73K \\ High 0.025) 0«
Dry (0.2)
-200K
EMV=0K
Drill at Site 2
Low (0.8) 50K

P(+ | Dome)P(Dome)
P(+ | Dome)P(Dome) + P(+ | No Dome)P(No Dome)
3 0.99:°0.60 3
0.99>0.60+ (1- 0.85)>0.40

P(Dome|+) =

0.908




QUESTION 7.32. B

Pr(X|Dome, Test Result)=Pr(X|Dome)

NEGATIVE TEST RESULT Max Profit
CONDITONAL INDEPENDENCE!! 5y 660) 100
P(+|Dome) =0.99 Pr(Dome|Test Result) "V
Dome (0.017) Low (0.25)
150K
P(- | No Dome) =0.85 EMV= - 51.94K \/\ High (0.15) ook
Drill at Site 1 Prob Profit Prob*Profit
0.017 52.50 0.89
0.983| -53.75 -52.84
-51.94
Dry (0.850) 100K
EMV=- 53.75K
No Dome (0.983) Low (0.125)
150K
EMV=0K \,\ High (0.025) 500K
Dry (0.2)
-200K
EMV=0K
Drill at Site 2
Low (0.8) 50K

P(- | Dome)P(Dome)
P(- | Dome)P(Dome) + P(- | No Dome)P(No Dome)
_ (1- 0.99):0.60 — 0.017
(1- 0.99)>0.60+ 0.85>0.40

P(Dome|-) =




